NORTH HUNTERDON HIGH SCHooOL
PRECALCULUS REVIEW SHEET — FUNCTIONS FROM A CALCULUS PERSPECTIVE

TEACHER: MRS. PARZIALE Unr 1

1. Which of the following represent (list all that qualify for each and be able to support your answer)

(a) rela’mons 6123\} !’3 & C,/,; d ) Q and (b) functions G, {‘\/ . "TQ

a. {(1 2) (2 3) ( 1 4): ("3 "2)} b. {('372)9 (12 3)= ("Ss 4)3 ('3’ '2)}
c. f(x) x+2 d. flx)=x"-3x+4
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2. Find the domain and range for each of the following functions. (Use appropriate set builder notation)

o y=[x] b. fx)=5(29 ¢ y= -2- d. f(t)=-26—18
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3. Let f(x)=95-2 g(x)=2x h(x)=x*—3x d(x)= il

a. Evaluate f(g(—j)) b. Evaluate g(f{- 1))\ c. Evaluate g(d@)) '
gD éf*% Q)2 EREY Mg o g\

éé«l‘jﬂ?(@)%t“?@ g) ml[)m,.?_(_w‘::wz\&w. %z”‘) 20 % > . 2{

d. Find the simpliﬁed equation for f{g(x)) e. Find the simplified equation for h(g(x))
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f. Are g(x) and f(x) inverses? (show work) ' g. Are g{x) and lc(x) inverses? (show work)

ﬁég,ﬂﬁfg)"; [ Sy~ 2. i ngﬁ v 2(§yd) (5//’ berhys T I

. ~ /%7{”‘% . i
Ao /f/f,iZ/ (7fv> X
jeo




MNORTH HUNTERDON HIGH ScHOOL
PRECALCLLUS
TEACHER: MRS. PARZIALE

REVIEW SHEET — FUNCTIONS FROM A CALCULUS PERSPECTIVE

UniT 1

4. Which translation has the effect on a graph of moving each point 3 units down and 8 units to the right?

(Circle one) e S,
a. T(y) = (x-3, y+8) ( . T(X,Y) (K+8 Y-3) c. T(x.y) = (x-8,y+3)

d. T(xy) = (x-8,y-3)

5. Which dilation/scale change has the effect on a graph of streiching horizontally by a factor of 15 and

shrinking vertically by a factor of 67 (Circleone) -7 \
a. S(x,)=(15x,6yy b S(x,»)= [E,6yJ [ e S(x,¥)= [le,%J

d. S(x,y)= (15 36’)

\ ‘ ,x’y/
\'\\-4-4 - ~u-’"‘”"""&ﬂ’f‘
6. Pind an equation (in y= form) for the image of y = x* under the transformation: .
VA
a. T(x,y)= (x+3 y=2) b. S(x,y):[sx,%) 4 '}) ‘::.(’ T
.
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Describe in words what happened to the parent function after each transformation: o
a, Yo ¢ G }\ vk L\}" b. (S/z»" Fo 1/ f"i{ftkﬂs Ao /j’)/ e L; t 2 :
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7. Find the equation (in y= form) for the image of y = [x] under the transformation.  /
a. I'(x,y)=(x=3,y+4) b. S(x,y)=(§,4y]
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8. What is the rule for the transformation that maps y = Jx onto the graph y= «fle
a. Describe: !‘-fgi‘;f\! Sen by Ly G L] “«"»'i b. x,¥) > { ;) : (,_,, )
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9. What is the rule for the transformation that maps the graph of y = L onto the gTaph of y= 53— ?
X X

a. Describe: 4 JM/LM. = ['\;:.,\r f L\; /1 b. (x,y) > (_
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10. What transformation maps the graph of y = 5% onto the graph of y = 5% +97?

a. Describe: "~ cire é L}{/’f} & b 9> _( 7”? ry b )

11. What {ransfonnatioﬁ maps the graph of = \/; onto the graph of y=+/x+25-187
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12, ‘Determine if each function is odd, even, or neither. If the function is odd or even, prove it.

2. f{x) =8’ b fx)=5x2-x* ¢ fx)=Px—4 d. 1(x) = x| -3
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Use the graph to the right to answer questions 14-18.
14, Give the formal name and equation for this par7nt function.
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15. What kmd of symmetry does this graph have?
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16, Just1fy your answer to #15
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17. Which graph is the inverse of this function?

18. Isthei mverse a function? Justzfy your an;;wer [ . "y
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19. Find the equation of the inverse to the following equations:

a. y=2x+7
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20. Write the inverse of the given relation: {(0, 1) (1,1), (2 2), (3, 3), 4,5)} L/‘/\D DAl i “’)
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21. a) A manufacturing company packs boxes of Whlteboaud marker 4~packs to be shlpped to various retail
stores such as Staples. Each box can fit 36 packs, Write an equation that would represent the nomber of boxes

B to hold x number of whiteboard marker packets.
/%35,_%5&[%7 )

b) Use your equation to detelm;me how, many boxes will be needed for 375 packs of markers,
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